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���

(����� 
� ����
���� �15��� ���� ��	�
���	�� ������#	��
����� ��
��
��� ���	

������(����	���
��
������	���
����(�����*�+��	����	((����#	
������

��
����	���16��������������	��	
���
��(���#	���
���������	�

)( 01

1
)(

ttre
tF

−−+
= , (17)


�
�
�	�	
���������
!��	�������	
����	
���������

�
���������
�����[13]
������!�����
��
��� �
�������	������������������
���������	������
� �

��	���	����		�	���	���
���������	����	
������������#		��������	�����-
�
�	
������� !	��������� ������
����
�� �� �
����� [14] �����!�
������ 
��
���	��	
�������
���������	�����	��
����	�
�������
����������	�����	-
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�
�		����#�������
��	�	���
��
��������	����
	����������	
���	�������	

������������������!������
�������	�����!���
���	
�����#	�	����������[7,
�����������

%
��
+�����������������������	�F(t)����	((����#	
��������
����		
(15�����
!
�����#	
�������
�
������
���
��	�
���������+��	����������

��������
� �� ��+�� ������
� ������� ��	� �	����	
������ �
�
������ ����+�-
�	����*�+��	����	((����#	
���������
����	���15��������������
!��	�

0)(

)(1
ln2

)(

1

)(1

11
t

tF

tF

tFtFr
t +




 −−−
−

= , (18)

����F(t) �
�
�����������3�����
)(1

1

tF−
�	�

)(

1

tF
 	������������#	�(����	�

����
����������#	��
��������
�
������
�	�	����	�F(t) ��	�����+	����
-

��	��� t .

%
��	�����������
��������
(	�	��
�	�	�������������
!��	��������

��������	�	�����������!	������	�	���	��������+��	�������	�	���

�

����

���

����

	

�	� �� � � 	���� �

� �� �

*	�����

�������
�	�	����	�����	���
����
�	�����
�����
���������
�
�	�������-
������������	��������������������	������
�
�����������
��	�����	�����
��

�
�	�	����	� ����	� �������	��	��������������
�� �
�	�	������ ����� ����	��
�

��	+�������������������������� 
�	������������������ ����	�����
��
�		

������� )( 0tt − .
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*
���� ����� ���
�
���� 
��� ��������� 	���
�	�
� �	���	��	
������

���������	�� 	��
�	
���
� �����	������� λ�� ����� ����������� ������	����	�

	���
�	�
� R�(���#	��
����� �
�	�	�� ��� 	�����	�����	�	���
�	�
� A�� 
��

������
	�
���������������
2

2 1

π
=

R

A
�� �!��������������!�������������

��-�����	�������������	����������	���	��	
���������������	����������-
������� ���	����������� ���������
����� 	�� ��������������� ��	��������

���	
����
�������������.�������	�����	������������������

���������-
�
��������
�
�����������	��������	���������
������������	���		������-
������ ����	������� 	�� 	�����	�����	� 	� ��������	�� ������	����	�����	

�
�
���������!������	���		�����	�������������	����	� ����	
	������-
�
����� ��������	�� ������	����	���� ��	� ��	��������	� 	�����	�����	�

1��	�	��������
�
������� ����������� �	�����	�����	�	� ������������ ��-
����	����	���������
	�
����������	�����������������
��	�
���������-
����	�	���
�	�
��	���	��	
����������������	�

1.
��+�� �
���
��	�
���� �
�	
��� �	
����	
������� ��

�
� �� ������

��������	��� ��
����(���������	���� ���

������������ ��������	�� ��
-
����(���������	�&��1����
�����������!������	���
������#������
���-
�	��

rtae

c
tF

−+
=

1
)( , (19)

���� 1≤c � �� �
�
����� �
�
����	����	�� ���#���� [13];� �#	�	������� ��

[16,��� 101])�����
!��	����������	�
������

)( 01
)(

ttre

c
tF

−−+
= , ( '19 )

���
��������
!��		�	����������	��F(t) ������������(���#	����
������-
���	������������� 1)( <∞F ��,
�F(t)������

��
������������(�������
����
�	��������� ������� .�������������� ������ �����	��� ��� �� ��������	

����������	�p(t)��
����������	����
���	��&'�����
��
�������	��	
����	-

���������

�
��������!���������
�������
������	
����	
���	����

����

��������� ��������	��� ��
���� (���� �����	� ��!��� ����� ��-������ ��-
��
������
���	
�
��������������	���������	���	��	
����������������	��

���	+������
!��	����
�
����	����	�����#�������
��������

��

                                                          
1��������
�
���������������������	�	���
�	�
��	���	��	
����������������	������-
��������������
�������	
���	���
�
����	�������������	�
�	��������	����������
����-
����
�
��������������	���	��
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�������q������((	#	��������
��	��
���	
�
��������������	�����-

���$"��� ��������$"���������	�������
��������

���
��
2

2

π
q

R

A
P == ,

�����
�

2







=

q

A
R

π
��.�����������
���	��&'�����
�	�

2
0

22
0

)(
)(

)(

tt
q

A

A

ttR

A
tp

−+





=

−+
=

π
,

(20)


������������(�����
��
�����
������


������������	�� 0)( =−∞F

.
1

5,0
1

5,0

)(

)(

)()(

00

0

2
0

2






 −+=





 −+

=
−

=

−+





== ∫∫

∞+

∞−

∞+

∞−

λπλπ

πππ

tt
arctgc

tt
arctgq

A

ttq
arctg

q
dt

tt
q

A

A
dttptF

(21)

,
�λ������

����
q

Aπ
��,�����λ��������	�
��
������	�����������������	���-

!����������	�F(t)���
����	�
��������
��	�
���������

��	��F(t)���
�����
q �����
�����������	�����
��������

������
��	��
���	
�
��������������	

�������$"���	
����	
���	����

������	�
�	�����������(���#		�
���
�-
����
����	������ q ��
#	��
����������

	����
�c�������	����
������

�-

�	�������� 	 ( '19 ).
 �����������#���
�������������		�����������
�	�

2
0

2

2

2
0

2

)(
)(

tt
c

A

A

ttR

A
P

−+






=
−+

=
π

. (22)

$�����
���
�������	�����#���
��
��


π
λ

π
λ

π
qcAcdt

tt
c

A
APdtE ===

−+






== ∫∫
∞+

∞−

∞+

∞−

2

2
0

2
2

)(

1
. (23)
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$�
�����	��������	����	���
�	�
#		����#���
� ����������� �
���+��	��

�������
����(�����'1���(�����'2������	�����#���
�����
�����������q���

�����		� ������
�+�
������ ���#���
� ��	� 	��
�	
������	� ���	�

	������
��	��������
��
�
�

 ������������
����������	���
����

��q > 1���������	�	����������-
������������������������������$�����
!��	���������!����
��	�������tf

���������
���+��	�����#���
����	�
�����F(t) = 1.

)1(,5,0
1

5,0
1

00 ≥




 −+=





−+= q

c
tgt

q
tgtt f πλπλ . (24)

%
��	�������	���������	������	
����	
���	����

���������
�������

�-
�	�� qc =  (� =�
�����+��	���
���	�	���c�&�����!	��
���	�	���c =��������-

�
���	�	���

�

����

���

����

	

�	� �� � � 	�� I �� �

� 
� �

*	�����

,
�	�	����	�� ����
����� �� �
���
�	� �	�(
� 
���������
� 	

 ��#��
�
�1����
��
�� ��
�����
	��� ��	������������� �� ������

���������
�	�� �	������	
���	�� ���
�	����� �
��������#		� 
��� ��� �����

.�
�	��	�
� �	
����	
������� ��

�
� �
�!�� ������
������ 	������� ���

���
����	� 	�
	�������� �
�
������� �	�
�	
���	�� �	������	
���	�

�������� 
��� ��� ������ �� �
+	�� �
���
�� 
��� ��� ���
� ����
�
� ������


�
�
����	�
#		� ��������� 	� 
���	������� ������� ��
� ������� �
����



������������
�������������������
����	�
�������	��������
�	����������
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�������������	�����	�
��������
���������	������� 
����/����������!���


������	�	���
�������������������
����
�����i���

����������	����(���-
#	���
��������

iBi
i

i
sBi

M
p +++

=
)1)((

, (25)

����M – ����	����	�����!	������s�������
��
������

�
��
�Bi���������-
�	�� 

����� ������ (���#	��
����� �
�	���	�� ��� i� ����
���� ���
!��	�
[2,��� 5].







+=

0
21 ln

i

i
aarctgBBBi , (26)

����B1, B2 	 a ���
�
�������
�	�	����	��i0����
�����
�	������	�
�(���#		

Bi�����
���
��	�
������
�������	��	��Bi��
�pi��
���
��	�
������
�����
��


�� (������� ����� �
����� �
����� ���	�� (	��	����� �
������ ��	���
� ��	�

���	����
���	�����#���
���	��	������������������������������������-
�������
���������
��������
�������������!��	���
����	������	
���	����-
�
�	�������
��	�(	��	������
�����	���
�	�
#		��	
����	
���������

�


	����	
�������������	�����������������#	�(����	����
��!�����	����
�	-

��	��	��
����������	���
�	�
������������������
����#�����1�
�	��
	�-
���������

��	���
�
����
�a�	������	�����		�	���
�	�	����	����������
�-
��� 
��������������������
�
�����������!��	���
���a = 1��
�(�����
#		�	�-
�����������

��	��a�	�������
�	��	
��������	�����������	+��������	�-
�����	��a = 1���(����






 −+= )ln(ln

1
5,0 0iiarctgBB mi π

, (27)

����Bm����
��	�
��������

��	��Bi����	� )∞→i �� ��������	���
�	�
����-

������	��������!������
��
�
2

1

π
� �����	�	#
��Bm)�����
���������
����	�

�	�����	
���	����	

��	������������������	�������������������

��	-

���
2π
mB

��2�����

��	������
������ ����������������	� ��
�����
���	������

�������

$�����
���
�� �����	�� ���#���
� ����
������
π
1

� ��	�	#� Bm�� *
����-

������ �������	� �
���
��	�
������ ���#���
� ������!����� ����
�����
�

�����	��!�����#���
��
��
�
π
mB

�	�	���������������
�	(�	
���	����	�	#
�
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0
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i
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�
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!
��� ���
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���������
��������-
����	�

�
��������
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���	�������	����������	���
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-
�	�
#		��
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����
�����
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���������������4�����������
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